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SN PRCAR
M DICMT HE U 29
Cigl: 2RTHZ &5 (el me
) _ oM e, hoH -
S - BB O9(3) - NEAIY - BAS (g%%‘) E(ME@O*(L% HD=E2
OS2 A2 2HX} WESIHE LAI2
370,000 %73] 2,590
307 el2to| A 128,730 126,000 2,730
02 DIZIAAMAIEE X 16,800 16,800 0
=0 A 16,800 16,800 0
OEST AN SN - 25 Zx2 )
1,200,000 1404 &~ 16,800
03 CIZIHEHERIGHIE X 111,930 109,200 2,730
=20 A 111,930 109,200 2,730
OS2 A2 29H| K&
666,250 1404 A+ 128 111,930
402 SI2t X201 A 36,000 36,000
01 BIZFXIE AL E X (KA ) 36,000 36,000
20| A 36,000 36,000
OH2EN2 HAN &5 XJ 36,000
O ATH| 2,000,000 %180 2 36,000
405 KHAHR EH| 19,500 23,600 24,100
Al 19,500
02 S A7LH| 19,500 23,600 24,100
Al 19,500
S0 A 19,500 23,600 24,100
Al 19,500
OS2 A2 TAFPH|l XSAIA
19,500,000 19,500
Al 19,500
CA2 HERA 2= 120,747 156,747 236,000
201 B2 AY| 77,051 69, 199 7,852
01 AFR22tel| 77,051 69, 199 7,852
=0 A 77,051 69, 199 7,852
OYBt=EH]| 35,600
OASUHXNEIA 29EE 2 2,600
A SOHREAEIA DFEr HI&
30,0002 x700H4 2,100
-AMASUHXAEIA EEE HIZE
500,000 *13] 500
OASURIAEIA B
3,000&*11,0004 33,000
oe|lz29| 41,451
OFREC A2 BBAIAE SX|22) 16,940
-8 T A2 APAH
18,000,000& 0. 07 1,260
-=8 T A2 DBAH
27,444 0002 =0.07 1,922
-=&8 AEC|X 24,500,000 *0.07 1,715
& 8T AlAE 19,360,000 *0.07 1,356
-HEHA 253t HHI(HEH)
18,742,000 %0.07 1,312




A FECAZ
Y TICAHZ 5 L 2Y
Cel: STTAM 2E (Ere: el
0] Ak & E 0] At =
-HEYT L4535 FHI(7IH2)
15,421,000 %0. 07 1,080
-HEQD £535 ZH|(ZSHICH
6,050,000 0.07/ 12«52 177
-HIESRA 253t HHI(SEULN)
1,740,000 %0.07/12+52 51
-HERZA 2538 @HI(&*%EM%)
11,809,000 %0. 07 827
-ANEFELX AH
9,710,000%0.07/12+5% 284
= 1=ON %2@
5,235,0002 0. 10/ 12«52 635
“HOIRE 2S5} ‘é—v—\_(K,SmN)
15,785,00024+0. 10 1,579
DHILAHIA(SIEZ21/0}) AlAE
29,560,0002 0. 10 2,956
—DBMS(ORACLE) 17,856,00024%0. 10 1,786
OEMEBESAIAL X2t 19,795
“HOIS S22 AIAE
27,500,000 0. 10 2,750
K.UAS(BY, s, A3, HHAN I
=) 45,015,600 0. 10 4,502
K.LAS(OH=, HE=0{2l0l)
12,604,32024+0. 10 1,261
K.LAS(Z=HICH =& LeH)
12,604, 32021 0. 10/ 12+52 526
K. LAS(E2T A2t 14IH2)
36,400,0002 0. 10 3,640
K.OMS(REZ=A 2 70H2)
11,550,000 %0. 10 1,155
K.OMS(Z=HICH, =&LieH)
3,300,0002*0. 10/ 12+52 138
K.OS(E2Z A=) 14,336,0002+0. 10 1,434
“HO|SAHUIA(BY, s41, S48, &
TN, JIH) 16,505,400/ +0. 10 1,651
-HOISMUIA(I=, Y=0{2101)
4,621,6802*0. 10 463
~HO|SAHUIA(ZSHICH S3LEH)
4,621,68021*0. 10/ 12+52 193
“HO|SMHIA (2T M 14012)
14,336,0002/+0. 10 1,434
~CA0IEX} OHY 2]
6,480,000 *0. 10 648
OFE M2 EHOIX FXlIZ2]
393,000 * 122 4,716
405 KHAHE S| 43,696 44,718 1,022
01 AL E2EF SHI 43,696 44,718 A1,022
20| A 43,696 44,718 1,022
OEAMZ UESRD L HEEQHAIAE D
===t 43,696
OENZ HER3A EH| 7 43,696
-VPN 34 43,696,000 43,696
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SA - BB - S9I(EN) - MRAL - BYS S s HIDEY
O=AM2 NESAA 280HE AHI2Y
10,0002 x50 500
14 J|Et2 8= 1,850 1,850
=0l & 1,850 1,850
O=AM2 RAESAA 2EUE A=
370,000& +53] 1,850
TEZAZ 2 114,923 93,019 21,904
101 14| 74,403 61,539 12,864
A JIZH2ERSES 74,403 61,539 12,864
=0l &t 74,403 61,539 12,864
o=z area
655,554,000& *4. 5% 29,500
o2EE Jjpaa
655,554,000 %3.545% 23,240
OFIIQALE JIARE=S
23,240,000 *12.81% 2,978
OLMEE JIARES
655,554,000 1. 10% 7,212
ONEEH JIARLS
655,554,000 *1.75% 11,473
201 ¢er2dy| 22,520 15,280 7,240
01 At22elH] 21,320 14,080 7,240
=0 &t 21,320 14,080 7,240
OLIZtEE(GB) 018 === 500,000 500
(©)=P=3 20,820
O&Y S AL 95,000 ~9U~ 122 10,260
OZecl SADI 220,000 x40+ 123 10,560
02 SE=24H| 1,200 1,200
=0l & 1,200 1,200
0s82= € HA 1,200
ORER=s 100,000 » 12 1,200
204 MR HY| 18,000 16,200 1,800
02 EZFE| 18,000 16,200 1,800
=0l &t 18,000 16,200 1,800
otelgsdl(6= 0Iat) 18,000
O 50,0003 x27 H* 128 16,200
OAIZHLER R D1 K|
50,0008 +3&» 122 1,800
S 29 523,795 454,472 69,323
Al 25,000
T 498,795
101 14| 105,320 103,862 1,458
A JIH2ERSES 105,320 103,862 1,458
=0l &t 105,320 103,862 1,458
oinzs 29 105,320
OOClgl0lAt= 4 B2t EX
78,8803 x2EH*1202 18,932




A FECAZ
M DICMT HE L 2Y
Gl ZREANZ 29 (& &
- 0] Ak & E 0] At =
SR (3 H) - HEAY - BAS (Z= o) BEED HnE2
UZIF EX
78,8802 x2% %1202 18,932
ONZI0IR2 A HAORE EX
9,860 x3A| 2+x23H x 120 7,100
OZEA2A A BX
9,860 x5 A| 2Hx2HH x 120 11,832
OFZ(E - 2) uif 2=
78,8802 x22H x50 7,888
ogs)R s X 78,8802 x2% x50 7,888
Oo|=sYdsd
9, 8602 *6A| 2+ 102 *30Y 17,748
OELE 100,000 x 10 +6 R 6,000
WEH| 5,000 x 102 *100 5,000
SAH| 5,000 8% x100 4,000
201 YBt2HH| 281,785 261,880 19,905
01 AFR2t2IH] 179,926 174,049 5,877
20| A 179,926 174,049 5,877
OYLEr2H| 40,090
OJI=2ARZ2E 7Y 5,000 5% x 122 300
Oo=AE1 2 926
-M 20,0002 4044 Kt 800
-A3 21,0002 x6A¢ Kt 126
oue s 15,0002 x25 5+ 128 4,500
Ouxztsie s 13,000 555+ 122 8,580
OQIE Y ATV 2= 40,000 *5JH* 12& 2,400
OEANZ 24=2E 72 8,804
—-SIEHAl 2RI ZE(SIEAl, HEES 5)
200,000 * 122 2,400
-EENEE(7H1) 2,220 «400* 122 1,066
“H3I|Y 25,0002 62 A #3CH 450
—CNZ 02 ARE(AUE, 24 5)
500,000 *13] 500
—DAIRE)| ADE(EH, &&)
250,000 %13 250
-ORIH ARE 3,188
HoIMIZRIE EW(EY LHE)
250,000 *2CH*43] 2,000
CHO|IE IS EHER Tgig 2=
150,000 *x2CH*33] 900
CEN BRIIE &) AMEX
6,000 *4CH =122 288
-EH=D1, 2I| A 20,0002 %2IH*13] 40
X224 SAEHEE(BIIEFM S)
500,000 23] 1,000
OHFAMZH| RAIIEE, OIRA, GISAN)
500,000 500
Osr £ 29 Yz 2
50,0008 * 122 600
OENHRIZE 7Y 3,090




SA PEEAH
H: DRCMZ 2E L 29
Cel: ZZCAE 2Y (el &
_ - Ofl AroH & & 0ff AroH =
2A -3 .. A2(3AH) - HEAE - HEZ (FH) (J1= o) Hns2
-HISMXIE AH0IA 4002+ 10004 40
-AFID BN 4002 %3,0000K 1,200
-AFID Bl 252 2y 50:24%3,0000H 150
-CNESE AMEX 90,0002 102 00
—CNSHEZ(2C, Z, 2UHOIZ S)
800,000 800
OZIIHIE 22| 330,000 330
OAMAl 2 282 HIZ 3,310
—SI2DIUMEN S 2E HA
1102 *11Z+1,0000H 1,210
-HO|2 3IAE 1,1002*1,0000H 1,100
-S48H(Z2H|8]) 150, 0002 %204 300
~S20H(HI0ILIA!) 50,0002 *8H 400
2123 £ 15024 %1,0000H*23] 300
OAUE $22 6,610
-HAL B A= 300,000 *53] 1,500
-HIEHATH, X, 2SY S)
4,000,000 13 4,000
—&2D| OHMZ A} 150,000 %13 150
-Se3 HA 450,000 #23] 00
—CAIDEA HA 60,0002 %13 60
oYx2 8,820
OF=D| 50,0002 #4CH* 122 2,400
OZIJIHAD| 55,0002 «7CH* 128 4,620
Odldl 25,0002 *6CH* 122 1,800
ozl 131,016
OzAg9Y 115,038, 0002 115,038
OFJ| orMze| (et
310,000+ 12& 3,720
OZ2D| orEBte| CHEH
160,000 * 1224 1,920
OHAIROIZH| 2 2EHZEIAIAE 242
217,000+ 12€ 2,604
OAEIA|A OrE IR [HE
117,0002 = 122 1,404
OAAE HS)ISEHH
800,000 13 800
OAPAE ZeEUFA
800,000 * 13 800
OXtEHD| & gz 2 0 X2kl
2,570,000 2,570
OZN2AYID| £ S22
180,000 * 122 2,160
2 2Z2YH| 86,859 74,831 12,028
S04 86,859 74,831 12,008
O=ZZ2= 2 HAl 68,659
OEMz B3l 523




SH: PREAB
M. BIEAS 5 2 29
&2l SSEAS 29Y (chel &2
SRR S(B) - NIRAR - BHAS (ggj) @%%gm;ﬁ% BRI
SR M2E S Al
123,000& 13| 123
22T A2E2S HASH|
400,000& *13] 400
OofIIe=a 3,600,000&~12& 43,200
OEAIDIA AFBE 600,000 x6& 3,600
ONGlERZ 450,000 122 5,400
OV =8z 20,0008 x12& 240
Ozl BlaEsea 6,002+ 128 72
OstFAl HI4HEE23 6,002+ 122 72
OL2FBAEIA 0182 15,552
“CHBEAL O SRS
18& x4 ,00021 *9Jl 2t= 128 7,776
—CAZe|Z2 e (BH, X)) S@HE ML
182 x4, 00021 *9Jl 2t+ 128 7,776
OAIE &I 18,200
O A2 A SX2e] 5,000,000& 5,000
OdtED| SXl22| 5,000,000 5,000
Os2)| |2l 1,000,000& 1,000
OABAEE S22 2,000,000& 2,000
o222 Xzl 3,000,000& 3,000
O&EI|&H| SXl22d| 2,000,000& 2,000
ObIdeEED| K5 200,000 200
03 AR HH| 15,000 13,000 2,000
=0 A 15,000 13,000 2,000
O&EH)| SARSINEHAH M2 =2t
s) 3,000,000& 3,000
Odte)| SHARIEEHAHSHY & S)
3,000,000& 3,000
OZAZ KNIASAHA fI2&
9,000,000 9,000
202 04| 600 600
01 2ol 600 600
=0 A 600 600
O&20H| 600,000& 600
203 YR =&IH| 450 450
03 AIHZ=RIHR=XIH| 450 450
=01 A 450 450
OTUTAN2 2K 450,000& 450
301 YEBNZ 40,680 40,680
14 JD|EIE A S 40,680 40,680
=0 A 40,680 40,680
O2AEIE 25 A2
100,000& *1H *123] 1,200
ONES2FT 22 LAIS
90,0002 x82 XH+40F= 28,800
OSsMa 2A= 90,0003 1H*12& 1,080




SN PRCAR
M DICMT HE U 29
el ZECAR 29 (cr9l: &g
S - B S9(3H) - NSAY - BES S SR HDS2
OXH2S AR Al 24
10,0003 x4 =202 x 12 9,600
401 AIEHIZL 0L 34,510 34,510
01 A&l 34,510 34,510
S0 &t 34,510 34,510
O=JtH =&3At 30,000,000 30,000
O3FHEA! Hlatg AXIZAl 4,510,000& 4,510
405 RHaHESHI 60,450 47,000 13,450
Al 25,000
- 35,450
01 XAt 2 ZFSHI 23,450 10,000 13,450
=0 A 23,450 10,000 13,450
ORISR D e 23,450,000 «1CH 23,450
02 SA7HI 37,000 37,000 0
Al 25,000
- 12,000
S04 & 37,000 37,000 0
Al 25,000
- 12,000
O M 37,000,000 37,000
Al 25,000
- 12,000
SEAF M2 2H 256,216 282,061 A25,845
Al 15,000
- 241,216
101 Q1244| 58,285 52,643 5,642
M It 22 sE 58,285 52,643 5,642
20i & 58,285 52,643 5,642
oitza 29 58,285
Oga=x2t BX 78,8303 x2YHx120 18,932
OZAOt BX
9,860& *4A| 22 120 9,466
o2 EX 78,880 x2H x50 7,888
OResdsg
9,860R *BA| 2F+6H x30 14,199
OF) ==t = 100,000 6 H +6H 3,600
OunE| 5,000 *6H 100! 3,000
O=2altl 5,000 x4 x60 1,200
201 LEt23d| 126,004 149,665 A23,661
01 AtS2teltl 91,447 117,430 A25,983
S0 &t 91,447 117,430 225,983
ogst=2| 21,826
OJIZNRESE 7 5,000 x4H+12& 240
O=AMEX 72 463




SN PRS2
H: DRCMZ 2E L 29
e ZRC MY 29 CHe® el
- o FoH [E] FOM -
S - B S9(3H) - NSAY - BES S N =2
-M 20,0002 *20 At Kt 400
-A3 21,0002 *3AF X} 63
orle 2= 15,0002 *55* 122 900
Ogipisie 1= 13,0002 x15Z* 12¢ 2,340
OQIHY MV = 40,0002 %50 * 122 2,400
OEMZ 298E ¢ 6,078
- EA 2RIRE(SIEX, HEEE S)
150,0002! * 1224 1,800
—EAUYESE(751) 2,200 %130} * 122 47
A2 25,0002 *38 A+30H 205
—CNE 012 ADE(AWE, gtd S)
250,000 *13] 250
—DARS)| ADE(EH, &8)
250,000 *13] 250
~ORIE AQE 2,666
“HOIMIERIH EH(EY 2HE)
250,0002! *2CH 43 2,000
CEHO|2 3RS BUE ZaH 2=
150, 0002 *1CH*33] 450
CEA APIS 52| AMEX
6,000 %30H* 122 216
-EH=21, 2I1 WA 20,0002 *2JH*13] 40
-Tt2A SHAFHIEZ(ZIILHM S)
250,000 %23 500
OSMEeI82E 7¢ 2,770
-HISMXIE AH0IA 4002+ 100K 40
-AFID BN 4002 %2, 0000K 800
FFID B0 252 o 5024%2, 0000H 100
-CNE5E AEX 90,0009 +72 630
—CNSMEE(2E, E, 2UHOIZ S)
1,200,000 1,200
OMsIIe T2 29 e 2
100,000 *6 24 600
OTAMZ A8 29 = iz 2
50,0002 * 1224 600
O®IIHIZE &M 400,000 400
ONAl & 222 HIF 2,705
SAVAAIA S 2Z A
1102 *11Z+5000H 605
-HO|E 3¥E 1,100 *1,0000H 1,100
-B 0t 50,0002 +8H 400
-2123 15024 *1,0000H *43] 600
OAF 242 2,330
—HAb 2 AS 250,000 %43 1,000
~MIEHAD QX S) 400,000 %23 800
-3 A 200,000 %23 400
~S20| OFM AL 130,000 13 130
oYz 5,700
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SN PRCAR
M DICMT HE U 29
el ZECAR 29 (cr9l: &g
s . bou 11 & 0 AbH _
S - BB O9(3) - NEAIY - BAS (g%%‘) 5(3@% HD=E2
O=~EIE 25 IME
100,000 1« 1235 1,200
OUS23EZ ) UAI2
90,000 x5 £F+40F= 18,000
O=A3 ZAIE 90,0003 *x1H~12& 1,080
OIS AR AHIE 4
10,000 *x3H 20 x 122 7,200
401 Al&EHI 20| 16,687 16,687
01 Al&H] 16,687 16,687
20| A 16,687 16,687
S Bl 24=Z2A1 13,717,000& 13,717
OSHAA! HlAtg AXIZAH 2,970,000& 2,970
405 KHAHSRIEH| 27,000 47,913 N20,913
Al 15,000
- 12,000
02 TN 27,000 27,000 0
Al 15,000
2 12,000
S0 A 27,000 27,000 0
Al 15,000
- 12,000
O% A 27,000,000 27,000
Al 15,000
2 12,000
HENHSIOIEAAE 29 159, 160 124,272 34,888
Al 10,000
2 149, 160
101 Q124H| 55,919 50,623 5,296
4 J1I2HHI22EE 4 55,919 50,623 5,296
=0 A 55,919 50,623 5,296
OXzd 29 55,919
OEYUF2E BX 78,880 x2% 120 18,932
OELUOR BEX
9,860& *3A| 2H*x2H x120 7,100
OF BX 78,8802 x2H x50 7,888
OosaIZsdre
9,860 *BA| 2t x30 14,199
OPIEES=; 100, 000R x6H ~6& 3,600
OunEH| 5,000 6 *100 3,000
O34lH| 5,0008 x4H x50 1,200
201 2Bt2AY| 44 471 32,419 12,052
01 AF222telb]| 29,636 17,496 12,140
S0 A 29,636 17,496 12,140
OYBt=E2Y]| 23,576
OJ|2ANE2E 22 5,000 x2H x12& 120




0K OH
0H OH TV
H1HT HN

A&
A2 s 2 23
A2 2g

S - HY . O9(3) - HISAY - BA= S S =2t
O=AR 7Y 305
-M 20,0002 104! Xt 200
-A3 21,0002 *54¢ X} 105
oMe s 15,0002 x4Z+ 122 720
OoIs2EE s 13,0008 105+ 128 1,560
OZAZ 298E 22 3,251
-31EA 2ARIBE(SIEX, HEEI2 S)
100,00024 * 122 1,200
EUNEE(754) 2,22020+70* 122 187
“H01 25,0002 #68+ A+ 1CH 150
—CNZ 012 ATE(AUE, BN 5)
120,0002 %13 120
—SAIRSB)| ARE(EYH, £8)
250,0002 %13 250
-OeiH ARE 1,094
CHoIMERH EL(EY 2HE)
250,0009 x 1CH#23] 500
SHOIS 3YE BER Tay 2=
150,0002 * 1CH+33] 450
CSA BR|E 52| AMEX
6,0002 *2CH* 122 144
-T2 A SHFHIRE(BIILHM S)
250,000 18] 250
ORFID B 822 2502123, 5002 5,875
OZANHZIZE Y 8,415
-RFID B4 23221 %23, 5000H 5,452
FID Bl ES8 oty 5521%23,5000H 1,293
-HI2E 2t (SE ) 70,0002 x32 210
-CANEEE AMEX 90,0002 +85 720
-CASHEE(RE, E, 2UHO0IZ 5)
700,0002 700
-HIEAX2 AHOIA 40024 %100K 40
OZIIHIE %2 200,000 200
ONAl 9 BE2 M= 2,130
-SIAIAMEA S U M4
1102435 +1,0000H 330
-M0|8 3B 1,100 *1,0000H 1,100
-3i0t 50,0002 *87H 400
2128 = 15024%1,0000H 23] 300
o2& 42 1,000
AL 2 AS 200,000 23] 400
—NIEH AT, QX E) 300,000 %23 600
oYzt 3,180
O™ 50,0002 <20 * 122 1,200
O23J1&3)| 55,0002 «3CH* 122 1,980
oz2lg%| 2,880
OFAIRQIAH| L 2EHZ2IAIAE 22
130,000 * 122 1,560
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B
£l
0




A
I‘I iH :
l:+°| :

YA
IJSHD =5 U 2
DICHT 2

o
40
c
[0

SRR S(B) - NIRAR - BHAS (ggj) aﬁiﬂﬁﬁ BRI
OSAHEZASAI o ISAAE SA2e
110,000& = 12& 1,320
02 B232g| 13,435 13,363 72
=01 A 13,435 13,363 72
03322 % MA 12,435
O& M2 &3l 123
St M2E 3 A3l
123,000& *13] 123
OoMIIe=2 1,000,000 x12& 12,000
OV =48lz 20,0008 x12& 240
O3st&EA! HIANSIR= 6,000& 128 7?2
OAIE&EHIKR X 1,000
OEAE HAF SX12te] 1,000,000& 1,000
03 A2 HH] 1,400 1,560 A 160
S0 A 1,400 1,560 A 160
O3t SHESTSHA(SA & )
1,400,000& 1,400
202 o4d| 300 300
01 2oyl 300 300
=0l & 300 300
o320 | 300,000 300
203 L RF=EY| 250 250
03 AIZE=RIHRFAY| 250 250
=0l A 250 250
OYEEI0IEAS H2FA
250,000 250
301 YEBNZ 20,400 20,400
14 JD|EIE A= 20,400 20,400
=01 A 20,400 20,400
O2AEIE 25 LAE
100,000& *1H *x123] 1,200
OUNS2T2 )2 2AAIZ
90,000 x4 x40 14,400
OXNISALAF AlH|I2 4
10,000 x2H+20L x 122 4,800
401 Al&HILL0HY| 2,300 2,300
01 AlEHI 2,300 2,300
S0 A 2,300 2,300
O3zt&al HIAY &AX| SA 2,300,000& 2,300
405 KHARISHI 35,520 20,280 15,240
Al 10,000
- 25,520
01 AL =SEF SHI 15,520 280 15,240
S0 A 15,520 280 15,240
ORFID AlAE! &H| 2 15,160
OENMSAIEXIAIAE 9,860,000 *1CH 9,860
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0K 0
05 08 10
K1 0
X xx
L

=

o

02

02 O
bl

HO Jtor

=
=2

o

$
o
0

. s rol 1 0f ar -
S - B S(SH) - NISAY - BAS S N s2t
ORFID el | 2,650,000 *2CH 5,300
O2MAMIEI 360,000 *1CH 360
02 SA=8I 20,000 20,000 0
Al 10,000
- 10,000
20/ & 20,000 20,000 0
Al 10,000
- 10,000
O=AM 20,000,000& 20,000
Al 10,000
- 10,000
H=EM2 2Z 451,552 431,946 19,606
Al 25,000
- 426,552
101 14| 110,670 105,093 5,577
M JIZHN2E2ENSES 110,670 105,093 5,577
204 & 110,670 105,093 5,577
OXtz 4l 2% 110,670
O"UF2t BX(0{el0IXZ4)
78,8802 22+ 1202 18,98
OBYF2 BX(SHIEL)
78,8803 x2H 120 18,932
O-UO2t BX(0{eI0IXIZ4!)
9,860R x4 A| 2Ex2H 120 9,466
OB BEX(ZEN24)
9,860R x4 A| 2Ex2H 120 9,466
oY EX 78,8303 x2H x50 7,888
ogshit & E2 78,8303 x2Y «50! 7,888
OnssdsY
9,860 *6A| 2Hx 12 30! 21,298
OE=Y 100,000 x12H +6E 7,200
OuEH| 5,000 x12% 100 6,000
(@F=g]s| 5,000 8 *90 3,600
201 Ler23d| 262,012 248,123 13,889
01 AtR22telt| 206,065 199,748 6,317
201 & 206,065 199,748 6,317
Oget=2H| 57,118
OJIZ2ANRES 7 5,000 x6H +x12& 360
O=AZX 7 96
-M 20,0003 »404F Xt 800
-A3 21,000 64} Xt 126
Oklz s 15,000 x255+12& 4,500
Oo=sZtdg 15 13,0002 x55&* 12& 8,580
Ol TV 2= 40,000 x99+ 12& 4,320
OZAN2 2E88 72 10,982




A FECAZ
. SSEANS &5 Y 29
ot BSENE 29 ciel &
- 0] Ak &L G 0] AroH =
2A -3 .. A2(3AH) - HEAE - HEZ (2= o) BEED =2
“FMARHIIBE, 0124, §ISAN)
500,000 500
-5l EAl ZRIRE(FE, HEES S)
200,000 = 122 2,400
-SYHNES(7510) 2,220 x4001 * 12& 1,066
eyl 25,0002 62+ A+3CH 450
—CANZ 02 ARE(AUE, g4 5)
500,000 13 500
—OAES)| ADE(EY, &&)
250,000 13 250
—ORIf ARE 4,776
dlolMIZ_lE EY
300,000 #4AHx 123 2,400
- 3YE =8 Taiy 2=
150,000 *4[H*33] 1,800
N BERIIE B2 AMNEX
86,0002 +8LH* 122 576
-EH=201, I P L D
20,0002 *27H*13] 40
-t2a BAFHIRE(2IIZHM S)
500, 0002 %23 1,000
OAst £ 29Uz 2L
50,0008 * 128 600
OZNEZIZE 7Y 3,660
-HI2E 2t (S EE) 70,0002+32 210
“HISMXZ HOIA 40024 *1,0000H 400
-RFID EA2 40024%2, 0000H 800
-RFID B0 B8 oty 502 *3,0000H 150
-CENEEE8 AMEX 90,0002/ 102 00
—ENSEHRE(2E, E, RIUHOIE E)
1,200,000& 1,200
OZDIHIE %2 400,000 400
OMAl 2 222 HIZ 3,300
—B|2IIUNHA S 2T NAl
11024 %10Z+1,0000H 1,100
-3|A= 1, 1004 *1,0000H 1,100
-S40t 50,0002 107K 500
2|23 £ 15024 %1,0000H*43] 600
O2LE =42 3,890
“EHAb 2@ AS 300,000 *53] 1,500
-MIEH AT, oK, &SY 5)
1,500,000 %13 1,500
-] QM ZA} 130,000 %13 130
-283 HA 350,000 x23] 700
—CAIDIA HA 60,0004 %13 60
OFBC NI SAEIE MNP0l P22(9
It 26,0002 600K 15,600
oYxtz 6,900
OF %D 50,0002 *3CH* 122 1,800




SN PRCAR
M DICMT HE U 29
el R2RTAD 2 LR
. . rou 1 2 0 .
S - B S9(3H) - NSAY - BES S s HDS2
O3JI1EED| 55,0003 *5CH* 123 3,300
odldl 25,0002 x6CH* 123 1,800
oz&clE9| 142,047
OFD| otMate| e (e
300,000 =123 3,600
Os2I| ord&e| CHE
180,000 * 123 2,160
OFAIRIAHl & ZEHZCIAIAE 22
248,003 =123 2,987
OAYAIE oM 22| CHEY
180,000 =123 2,160
OLg8Ad BHSIIsEE
500,000 *13] 500
OxgALE ZSSHELEH
500,000 *13] 500
OENM=ZALXI S FXl2el
65,0003 =13CH*12& 10,140
ORI AU HAAE S RAI22]
230,000& x2CHx12& 5,520
OFAEAH| 114,480,000& 114,480
02 2323l 49,47 42,375 7,572
S0j &t 49,947 42,375 7,572
02322 % HA 35,947
OZ M2 &3l 523
-t M 2E 3 A3l
123,000 *13] 123
-S3ET M3 HalH|
400,000& *13] 400
O®IIe2 2,000,000& 122 24,000
OZAIIIA AIBZ 600,000 * 12 7,200
O&ot=ER32 300,000&*12& 3,600
O bz 20,000 x2CH*12& 480
O HIANSIRS 6,000&12& 72
OstEA! HIANSIRS 6,000 x12& 72
OAEEHIS XY 14,000
O AZ HAF X2t 4,500,000 4,500
Ode)| szl 3,000,000 3,000
OsdI| KA 1,000,000& 1,000
OLgANEdE RAI2E 1,500,000& 1,500
O22de R 2,500,000& 2,500
OdI|&H| sXl22| 1,500,000& 1,500
03 A2 FH| 6,000 6,000
=0 A 6,000 6,000
OAED| SASFLEHAH(ZAZ F2¢
g) 3,000,000& 3,000
O5ED| SASSFEEHA(SAHL & S)
3,000,000& 3,000
202 O4H| 600 600 0




SN PRCAR
M DICMT HE U 29
Cigl: ZRCAB 29 (el me
S - B S9(3H) - NSAY - BES S SR HDS2
01 ZLHO4H] 600 600
=0 A 600 600
OZ204dl 600,000 600
203 SR F&| 450 450
03 Al FRIHRFAIY| 450 450
=0 Al 450 450
O=2EM2 FRFE 450,000 450
301 Ldet2HZ 37,080 40,680 A3,600
14 JIEI2 &3 37,080 40,680 A3,600
=0 A 37,080 40,680 A3,600
O=SAEIE 28 ZAlE
100,000& *1H*123] 1,200
OuUSIIZZ )& A=
90,0003 x82 £4+36 25,920
O=AMNzl ZAt= 90,0003 *1H *43| 360
OX-EAS AR AlHI 24
10,0003 #4202 x 12& 9,600
401 AIEHIL 20| 3,740 3,740
01 A&l 3,740 3,740
S0i & 3,740 3,740
O3SIEA! At AXIZAl 3,740,000& 3,740
405 RHaHESH| 37,000 37,000 0
Al 25,000
- 12,000
02 S A7 37,000 37,000 0
Al 25,000
- 12,000
S0j &t 37,000 37,000 0
Al 25,000
- 12,000
O&A 37,000,000 37,000
Al 25,000
- 12,000
IHOENZ 2Y 246,239 218,339 27,900
Al 15,000
- 231,239
101 l24d| 54,144 48,603 5,541
M It 22 sE 54,144 48,603 5,541
=0i & 54,144 48,603 5,541
OXtza 2% 54,144
OEY:2t BX 78,8303 x2H*120 18,932
OZadot 2
9,860& *3Al2H2H 120 7,100
o2 2x 78,8803 x2H x50 7,888




S PRICH2
I ZTTAHB 25 U 29
Cel: 2RCAY 29 (el &
SA - B - SI(3) - NIEAE - BAS (ggj) @‘ggﬁ‘” BlRE2
OResdsY
9,860 7 Al 2H6EH*302 12,424
@pJE=-E=, 100,000 6% 62 3,600
OS] 5,0002 *6H * 100! 3,000
O34l 5,0009 x4 2 *60L! 1,200
201 Y224 127,295 111,976 15,319
01 Al22t2H 85,798 85,041 757
S0f| A 85,798 85,041 757
(@EIEIES =4}, 19,217
OJ2AREE 7Y 5,0009 x4 » 12 240
O=ARI 7 20,0002 %204 Xt 400
oule 2= 15,0002 55+ 122 200
Og=2tiE 1S 13,0002 x 155+ 122 2,340
OQIEY ATV RS 40,0002 204 * 122 %0
OZNZ 2982 7Y 5,087
S5 2eISE (X, HEES S)
150,000 122 1,800
-EENSE(7512) 2,220 +2001* 122 533
-EH3I|A 25,0002 62+ A x2CH 300
“CAR 0l ARE(AUE g4 5)
250,000 %13 250
-ORIE ARE 1,504
SHY0| M IR £
250,000 1 CH*43] 1,000
-HOI2 RE EZ¥E TgH el2
150,0002 *1CH+33] 450
CCAN BRIE S| AHEX
6,0002 x2CH* 122 144
-EH=D1, II, JIEATAH2I| WAl
20,0004 %3 x 13 60
-N24 SEAEHIZS(3I/€3:HM S)
250,000 %23 500
OSNERIBE 7Y 2,720
-AFID B4 4002 *2,0000K 800
RFID i ES2 ety 5024%3,0000H 150
-HIZMXIZ HOIA 4002 %3004 120
-EMESE AEX 90,0008 %52 450
-SASMHEE(RE, E, 2dHZ 5)
1,200,000 1,200
O&I| HIE #2| 400,0002 400
OZAZ 28 29 g 7Y
100,000 122 1,200
OMal 2 E8B=2 NI 3,010
-SIRIIAAEM S AUE M4l
11024%11Z+1,0000H 1,210
-0 3¥E 1,1002*1,0000H 1,100
= 50,0002 87K 400
-2I1E% s 1502 %1,0000H =23 300




SN PRCAR
M DICMT HE U 29
e SSEME 2 (Gt &
S - B S9(3H) - NSAY - BES S SR HDS2
O%E 442 1,770
A S AF 210,000& *43] 840
-MIEH (AT, QX S) 400,000 23] 800
-S| A AL 130,000 *13] 130
O M = H2EAIZ &E S|
20,000& 123 240
oYXtz 3,720
O&F=D| 50,000& x2CH 12 1,200
odldl 25,0003 »4CH* 123 1,200
O3JI1EED| 55,0003 «2CH* 123 1,320
ozxels4| 62,861
ORFIDAIAEY X2t 150,000 =123 1,800
O L EAH| 53,261,000 53,261
QAR A Y Z2EH2ElAIAE 22
240,000 x12& 2,880
OAgAlL otM2te] Thl
140,000 x12& 1,680
O&I| etdzte| thdl 120,000 =123 1,440
Os2D| ord2e| CHE
150,000 =123 1,800
02 2223l 27,907 22,435 5,472
204 & 27,907 22,435 5,472
02223 £ HAl 22,407
OEAM2 E3ldl 423
-S=EM2ES A
123,000&*13] 123
M H M 2E 25| HalH|
300,000& *13] 300
OoMII2 1,100,000 =123 13,200
OZAIDIA AIER 1,300,000& 6& 7,800
O4ot=ER23 70,0003 x12& 840
O HIANS 22 6,000& x12& 72
OstEA HIMNS 23 6,000& x 128 72
OAEEHIRXIYI 5,500
O M2 AL SX2tel 3,000,000& 3,000
O] FX2tel 1,500,000& 1,500
OEEAWIIINE 500,000& 500
O22e |Xl2e| 500,000 500
03 A2 ZH| 13,590 4,500 9,090
=0 A 13,590 4,500 9,090
OAED| SASFEEHAH(ZAZ F2¢
s) 1,000,000& 1,000
OB SHSHTSHA(SHY 2 S)
1,000,000& 1,000
QIIES T A2 2t 20=3 J|E &AL
11,590,000& 11,590
202 O4H| 400 400 0




SN PRCAR
M DICMT HE U 29
el ZECAR 29 (cr9l: &g
. . rou 1 2 0 .
S - B S9(3H) - NSAY - BES S s HDS2
01 ZLHO4H] 400 400
=0 A 400 400
O32/0dH| 400,000 400
203 SR F&| 360 360
03 Al FRIHRFAIY| 360 360
=0 Al 360 360
OJIEE A2 HRFX 360,000 360
301 Ldet2HZ 27,840 30,000 22,160
14 JIEI2 &3 27,840 30,000 A2,160
=0 A 27,840 30,000 22,160
O=SAEIE 28 ZAlE
100,000& *1H*123] 1,200
OuUSIIZZ )& A=
90,0003 x62 £++363 19,440
OXH2S AR Al 24
10,0002 x3H 20 x 122 7,200
401 AIEHIZL 0L 9,200 9,200
01 A&l 9,200 9,200
S0 &t 9,200 9,200
OSHEA! HlAY AXIBA
2,700,000& * 14 2,700
o283 WHl 6,500,000 *14] 6,500
405 RHaHESH| 27,000 27,000 0
Al 15,000
- 12,000
02 =N 27,000 27,000 0
Al 15,000
- 12,000
20l & 27,000 27,000 0
Al 15,000
- 12,000
O M 27,000,000 27,000
Al 15,000
- 12,000
sH1sEA2 29 243,931 227,757 16,174
Al 15,000
- 228,931
101 @I24| 58,285 52,643 5,642
M IIZHN22NSES 58,285 52,643 5,642
=0 A 58,285 52,643 5,642
OXtz 4 2% 58,285
OEYF2H B 78,8803 x2H 120 18,932
OB EX
9,860 *4 A 2H2H 120 9,466
oL BX 78,8303 x2H x50 7,888




SN PRCAR
Bu: ZRCAR BE Y 22
CiPl: BECAD 29 (ol Hm
S - B S(SH) - NISAY - BAS S SR HIDS2
SCECEESS
9,860 *BA| 2F+6%H x30 14,199
OJEY 100,000 6 B «6& 3,600
OulSH| 5,000&x6H 100 3,000
O=4H| 5,000 x4 H+60 1,200
201 et2AH| 123,176 116,274 6,902
01 AtS2teltl 92,009 88,619 3,390
=01 & 92,009 88,619 3,390
Oget=ZH| 21,744
OJI2AMNRESE 7Y 5,000 x4H+12& 240
O=AEX 7 20,0003 x204¢ Kt 400
Otz = 15,0002 x55+12& 900
OostdE 15 13,0003 x 155+ 12& 2,340
OHIEAMXtZ(0W, ) -
20,0002 *304* 123 720
OZAN 2888 72 6,754
—SHAA 22| 2B E(SHEAX, HEEE 5)
150,000« 12& 1,800
-EENSE(751) 2,220 *3001* 123 800
-8 25,0003 x48¢ A «3CH 300
SN 018 ARE(AUE, g4 S)
250,000 *13] 250
-IAEBI ARE(EH, &)
250,000 %13 250
-2y A8E 2,814
-HOIMERIH EW(EE L)
250,000 =2CH*33] 1,500
CEETIEH A3 30,0003 x4 24«63 720
- HOIE ARE EEE X2 el=
150,000 *1CH*33] 450
SN BRI &8 eMEX
6,000& =20H = 12& 144
-Ei=21, 21 WA 20,0002 *x2Jl*12] 40
-Aza SAFHIEE(SIEHM S)
250,000 »23] 500
O&ENME2ES 7 3,250
-HIZMXE AHIOIA 4002 *5000H 200
—-RFID B 4003 *2,0000H 800
-RFID B BES& e 50 *3,0000H 150
-CEAESE ANEX 90,000& % 10= 900
-CAAEE (2, 2, dH0E )
1,200,000& 1,200
OMA 2 E22 M 3,310
-S|RIIAAFN S 2T MA
110& %115 +1,0000H 1,210
-H0|2 3RS 1,100& *1,0000H 1,100
- 50,000 *8H 400
-clE3 S 1503 *1,00001*42] 600
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SN PRCAR
M DICMT HE U 29
el ZECAR 29 (cr9l: &g
S - EHY - BR(31) - NSAY - BaS S SR b=
202 04| 400 400
01 =LHO4b] 400 400
S0 &t 400 400
O22 04| 400,000 400
203 R=&H| 360 360
03 AMEFRH2FXIY| 360 360
S0 &t 360 360
OsMsSTAZ RFX 360,000& 360
301 et Z 31,080 31,080
14 J|Et2 &2 31,080 31,080
S0 &t 31,080 31,080
O=AEIE 28 ZAlE
100,000& * 14 *123] 1,200
OUEISEZ ) 2AIZ
90,0003 x62 £*403= 21,600
OsAM3 2AMZ 90,000 x 189+ 123 1,080
ORI SAHAL AHIE A
10,000 «3Y*20 x 12& 7,200
401 AEHIL 0L 3,080 3,080
01 Al&H| 3,080 3,080
S0j &t 3,080 3,080
OSHEA! A AXIZAl 3,080,000& 3,080
405 RpAHFE=H| 27,550 27,000 550
Al 15,000
- 12,550
01 TS EFHSHI 550 550
S0 &t 550 550
OFLEZGA FHA HIS ux
550,000 *1CH 550
02 EM7HI 27,000 27,000 0
Al 15,000
- 12,000
S0 & 27,000 27,000 0
Al 15,000
- 12,000
O A 27,000,000 27,000
Al 15,000
- 12,000
AN 2Y 250,085 233,735 16,350
Al 15,000
- 235,085
101 21| 58,285 52,643 5,642
M It 22 HsSE 58,285 52,643 5,642
=0 A 58,285 52,643 5,642
oizd 29 58,285




SN PRIT M
H: DRCMZ 2E L 29
ool 2RCA 2 (el &2
% ~ FOH S {5 & 0] Ao =
S - B S(SH) - NISAY - BAS S s HIDS2
OmYU=2F BX 78,8301 02 x 1202 18,932
OmAQF BX
9,860 x4 Al 2H+22 x 1202 9,466
OFY 8% 78,8802 #2250 7,888
QO=E=1=1-TEN=
9,860 +BA| 2H+6H*302 14,199
OEg 100,000 6% 62 3,600
OnEHY 5,0002 *6% * 100 3,000
O34 5,000 #4260 1,200
201 L2 129,280 120,852 8,428
01 A2+l 9,543 90,867 3,676
S0 A 9,543 Q0,867 3,676
(@FEIEI===4u], 22,199
OJl=2ARe=E ¢ 5,0002 x4 % * 122 240
O=AX 2 463
-M 20,0002 *20 At Kt 400
-A3 21,0002 *3A¢ Xt 63
oule = 15,0002 55 * 122 900
Ogipisie 1= 13,0002 *15Z* 12% 2,340
OQIHY MV = 40,0009 %30 * 122 1,440
OSAHZ 298= ¢ 6,907
- EA 2RIRE(SIEX, HEEE S)
150,0002! 1224 1,800
EAUNEE(7510) 2,2002 %200} * 122 533
A2 25,0002 82 A #3[H 600
—CNE 012 ADE(AWE, gtd S)
250,000 *13] 250
—DAES)| ADE(EH, &8)
250,000 *13] 250
~IRIE AQE 2,574
HOIMIRIE EH(EY LME)
250,0002! *2LH*33] 1,500
CEEDRIH 23
30,0002 #44H+1 [ +43] 480
CHOIS 3B YR Tl 2=
150, 0002 1 CH*33] 450
ST BPIIS )| AMEX
6,0002 *2CH* 122 144
-EH=21, 2I1 WA 20,0002 *2JH*13] 40
24 BANHIRE(ZIIEHA S)
250,000 %23 500
-HEISSIE IS4 DA
20,0002 *3CH*63] 360
OSMHeIE2E 7¢ 3,250
-HISMXIE AH0IA 4002 +5000H 200
-AFID BN 40021 %2,0000K 800
FFIDEID 252 ety 50243, 0000H 150
-CNE5E AEX 90,000 *102 900




SN PREAR
M DICMT HE U 29
el ZECAR 29 (cr9l: &g
S - EHY - BR(31) - NSAY - BaS S SR b=
-CAEAEE (R, 2, 2dH0IE S)
1,200,000& 1,200
O&IILIE =2l 400,000 400
OMsII® Z208 g 7Y
100,000 ~6& 600
OZNT Aet2d S Ha 2
50,000& x12& 600
OMAl & B2 JX 2,342
SIAIAMEA S 2AE AA
1102 *11Z+2000H 242
0|8 IS 1,100&*1,0000H 1,100
-S40 50,0003 *8IH 400
-2lEx S 1502 *1,00001*43] 600
OLE =8 2,210
“EAL ESE A 220,000 *43] 880
-MIEH (AT, X S) 400,000 23] 800
=2 CHEZAL 130,000&*13] 130
-=%3 HA 200,000& *23] 400
Ogstl|2t oelol SAnA 89 500
-z 72 0,000& *x20H *23] 400
-S40 50,0003 =24 100
oYxt=z 5,640
O&F=D| 50,000 *3CH*12& 1,800
O3JIEED| 55,0003 #4CH* 123 2,640
odldl 25,000 x4 CH*12& 1,200
oaelE4| 66,711
OFEAZEAH| 55,671,000& 55,671
OFRFID AIAE RX2He] 300,000 128 3,600
O&D| otX2te| e 120,000 = 12& 1,440
Os2D| erd2e| CHE
150,000 *12& 1,800
OAgAld otM2te] Thl
120,000 = 12& 1,440
OFAMREH L ZEHZCIAIAE 22|
230,000&*12& 2,760
02 3323l 30,237 25,485 4,752
=0 A 30,237 25,485 4,752
023222 % HA 24,737
O& M2 E3lH| 173
-StmE M2 3 A3l
123,000 *13] 123
SN 2Es 2SZE 23 H3H|
50,0003 %123l 50
O®IIe2 1,540,000& * 12& 18,480
OZAIIIA AIBZE 650,000& x6& 3,900
O&ot=ER3 150,000 *12& 1,800
O =tz 20,0002 x 123 240




SN PRCAR
Bu: ZRCAR BE Y 22
CiPl: BECAD 29 (ol Hm
S - B S9(3H) - NSAY - BES S SR HDS2
O HIANSIRS 6,000& x12& 72
Ost&A Hla&seE 6,000&*12& 72
OA&EHIR XY 5,500
O M2 A X2t 3,000,000& 3,000
Odter)| szl 1,500,000 1,500
Os2J1 |zl 500,000 500
O2gd szl 500,000& 500
03 A2 ZH| 4,500 4,500
=0 A 4,500 4,500
QA SH2SBSHA(TAHZ 521
s) 2,000,000& 2,000
OsED| SASSFEEHA(SAHL & S)
2,500,000& 2,500
202 O4H| 400 400
01 =LHOH] 400 400
20l & 400 400
o2y 400,000 400
203 RF=&H| 360 360
03 A EFRHRFXIY| 360 360
20/ & 360 360
O3NS HRFX 360,000& 360
301 Let8dZ 31,680 31,680
14 J|Et2 &3 31,680 31,680
20i & 31,680 31,680
OSAEIE 28 2AIE
100,000& x 1 *123] 1,200
OnNE2EZz ) 2=
90,000 x62& £t+403= 21,600
OB OlRI0l SADA LA
100,000 *3H *23| 600
Os Mzl 2AM= 90,0002 x 1Y+ 12& 1,080
OXHES AR Al 24
10,0003 *3H =20 x 12 7,200
401 AIEHIZL 0L 3,080 3,080
01 Al&HI 3,080 3,080
S0 &t 3,080 3,080
OSHEA! A AXIZA 3,080,000& 3,080
405 RHaHESH| 27,000 27,800 A800
Al 15,000
- 12,000
02 =N 27,000 27,000 0
Al 15,000
- 12,000
20/ & 27,000 27,000 0
Al 15,000
- 12,000




SN PRCAR
M DICMT HE U 29
el ZECAR 29 (cr9l: &g
S - B S9(3H) - NSAY - BES S SR HDS2
O M 27,000,000 27,000
Al 15,000
- 12,000
2SO EAZ 29 294,308 834,182 AB39,874
Al 70,000
- 224,308
101 1244| 54,144 48,603 5,541
M It 22 sSE s 54,144 48,603 5,541
S0 &t 54,144 48,603 5,541
OXt=z4 29 54,144
Ogad=x2t BX 78,8303 x2YH x120 18,932
OELOoR B
9,860& *3A[2H2Y 120 7,100
o2 EX 78,8803 x2H x50 7,888
OResdsg
9,860 7 Al 2F+6%H 30 12,424
O ==t 100,000& 6 H +6& 3,600
Ou S| 5,000 *6H 100! 3,000
O3A| 5,0002 x4 x60 1,200
201 LEt23d| 128,724 113,960 14,764
01 AtSR2teltl 9,517 91,753 6,764
S0j &t 98,517 91,753 6,764
OgEt=ZH| 25,116
OJI2AREE 7 5,000&*4H «12& 240
O=AMEX 7 463
-M 20,0003 x204F Xt 400
-A3 21,0003 *3AF Kt 63
Otz 7= 15,0003 x65+ 128 900
OASZHZ 75 13,000 x155+12& 2,340
QeI ATV 2= 40,0003 304+ 123 1,440
OEAN2 2E2EE 22 6,548
-S4l 22| 2E (AR, SHEEE S)
150,000« 12& 1,800
-SHMNSE(T510) 2,220 3*130*12& 347
-8 25,0002 ¥38¢ A «3CH 225
-TAE 018 AR (AUSEH 84 5)
250,000 %13 250
-2y A8E 3,386
-HOIMERIH EWH(EE L)
250,000 =2CH =43 2,000
-HeiZely 23
30,0003 #4281 CH 63 720
MO RS EZEE gy el=
150,000 = 1CH*33] 450
CEN HPOIS £ AUMEX
6,000& =30+ 12& 216
-Ei=21, 77| 20,0003 *2JH*13] 40




A FRICAHD
M SN2 EE Y 2Z
el SSEAE 29 (chel &2
SA - B O9(3H) - NISAY - BES S SR HDS2
-2 BANHISZ(ZIILHA S)
250,000 *23 500
OEMHeIEE ¢ 6,750
-AFID B 40021%6,0000H 2,400
-fFID E10 E52 o 50 +6,0000H 300
-tgde 250216, 0002 1,500
-TNESE AEX 90,0002 %155 1,350
“CENSEEE(2C, Z, 2UHO0IZ S)
1,200,0002! 1,200
OMsIIE Z203 29 W2 ¢
100,00021 62 600
OEA2 A8t 29 S a7
50,0008 % 12 600
OFIIHIE 44 400,000 400
ONAl 9 282 M= 2,305
SRNYNBN S 2F N4
1102 %11Z550004 605
ENER-EES 1,10024*1,00004 1,100
2|23 = 1502 %1,0000*43] 600
OAB 242 2,530
~EAL S A= 300,000 *43 1,200
-HIEHAT}, SRt S) 400,00021%23] 800
~S2D| HEAA 1300002 *13 130
-S43 HA 200,000 *23) 400
oYz 8,400
OF$)| 50,0002 x3CH* 122 1,800
OZIIEHD| 50,0002 8CH* 122 4,800
OHIE 25,0002 *60H* 122 1,800
ozelgd| 65,001
OFD| orEBe| TH3t 140,0002 * 122 1,680
Os2| orEze| o
160,0002* 122 1,920
ORAPOIAH L IEHTEIAIAL e
260,0002 * 122 3,120
OAZAlL ormBte| [f3
190,0008!* 12 2,280
OHARAY| 56,001,000 56,001
02 22| 25,207 19,707 5,500
20 A 25,207 19,707 5,500
0Z2e2 2 HAl 22,707
OZAZ &3l 123
—ERE 23| o3|
123,002 *13 123
o®IIQ2 1,500,000 * 122! 18,000
OZAIIA AlBZ 300,000 *62 1,800
OaBl4eER2 200,0008!* 122 2,400
OS] 20,0002 * 122 240




SN PRCAR
M DICMT HE U 29
el ZECAR 29 (cr9l: &g
S - EHY - BR(31) - NSAY - BaS S SR b=
O HIANS 22 6,000& x12& 72
Ost&4al Hladst 2= 6,000&*12& 72
OAEEHIS XY 2,500
O M2 A X2t 1,000,000& 1,000
Os&I| ®A2el 500,000 500
O22e |2 500,000 500
OdLte)| X2l 500,000 500
03 A2 ZH| 5,000 2,500 2,500
S0j &t 5,000 2,500 2,500
OB SHIIIREHAH(EMZ =24
S) 2,500,000& 2,500
OotE)| SARIREHAHSME & S)
2,500,000& 2,500
202 O4H| 400 400
01 =LHOH] 400 400
S0 & 400 400
O22 04| 400,000 400
203 LRF&d| 360 360
03 AIMF=RIH R =X 360 360
20 360 360
OHICI =M 2 RFA 360,000 360
301 detBAZ 25,680 8,000 17,680
14 J|Et2 &3 25,680 8,000 17,680
20 & 25,680 8,000 17,680
OSAEE 25 2AE
100,000& x 1 *123] 1,200
OUEISEZ ) 2AIS
90,000 x52 £H+365= 16,200
O=sAMz ZAMZ 90,0002 x 1Y 12& 1,080
OXH2S AR AlH| 24t
10,0003 *3H =20 x 12 7,200
401 AIEHIZL 0L 3,000 70,000 267,000
01 Al&H| 3,000 70,000 67,000
S0 &t 3,000 70,000 267,000
OSHEA! A AXIZA 3,000,000& 3,000
405 KHaESHI 82,000 592,859 510,859
Al 70,000
- 12,000
2 EX7HI 82,000 270,000 A 188,000
Al 70,000
- 12,000
S0/ & 82,000 270,000 188,000
Al 70,000
- 12,000
O A7 82,000,000 82,000




S PRICH2
I ZITA 5 L 29
Cel: ZBCAR 29 (CHe: &2
S - EHY - BR(31) - NSAY - BaS S SR b=
Al 70,000
- 12,000
SN 2 58,843 67,124 A\8,281
101 QIA4H| 21,537 27,503 N5,966
M IRIN22EES 21,537 27,503 A5,966
20 At 21,537 27,503 N5,966
OXza 29 21,537
OBUF2A 22X 78,8802+ 1Y x 1252 9,860
OFLEX 78,8802 124 %502 3,944
O T=oi-TEs=, 78,8802 x22 %302 4,733
Os4g 100,0002 x22+62 1,200
OmEH| 5,000 x22*90 900
OS24l 5,000 x22*90 900
201 LEr2AH| 15,086 19,621 A4,535
01 AFR2t2IH| 12,586 6,621 5,965
20 A 12,586 6,621 5,965
OEIEIES =%l 10,666
OIIZAREE 7Y 5,000« x 122 120
O=AR 7Y 305
-M 20,0002 * 104 Xt 200
-A3 21,0002 +54¢ X} 105
oule 2= 15,0002 x4 122 720
OoIs2EE s 13,0002+ 105+ 122 1,560
OZNZ 2988 7Y 1,801
-EUNEE(750) 2,202 %70 * 122 187
-2 25,0002 «6E A= 1CH 150
SCAZ 012 AZE(AUSE, BA S)
120,0002* 13 120
-m2lE ARE 1,094
“HOINIRH EU(EY 2HME)
250,0009 x 1CH+23] 500
SH0|Z BB AR TRIf 2=
150,0009 * 1CH+33] 450
SN BPIIE BH)| AMHER
6,000 x2CH* 122 144
X34 BAFHISS(BIILHM S)
250,000 %13 250
OZAFZIZE Y 2,170
-RFID B4 4002 *1,5000H 600
FID BiD BE58 ety 502 %2, 0000K 100
-HI2E 2t (SEH) 70,0002 %32 210
-CNESE AMEX 90,0002 +«82 720
—CASM2E(2E, E, 2UHOIE S)
500,000 500
-HIEAXIE HOIA 4002 *1007H 40
O&J| HIZ 2 200,000 200




SN PRCAR
M DICMT HE U 29
el ZECAR 29 (cr9l: &g
S - B S9(3H) - NSAY - BES S SR HDS2
ONA 2 228 AN 2,130
SEDILAEA S 245 A4
1102 *35+1,0000H 330
-H0|Z2 ™S 1,100&=1,0000H 1,100
-0 50,000 *8IH 400
-<2lEx S 1503 *1,00001*23] 300
OoA8 =8 1,660
“EAL 2SS A 200,000& »23] 400
-MIEH (AT, QX S) 300,000& *23] 600
—2Ef 22| AIAE 2e| 55,0003« 12& 660
ox=z 1,920
O&F=D| 50,0002 *1CH*12& 600
O3 3| 55,0003 =2CH* 123 1,320
02 2323l 500 13,000 212,500
20/ & 500 13,000 212,500
OA &= Xl 500
O M2 A |X2tel 500,000 500
03 A2 FH| 2,000 0 2,000
20i & 2,000 0 2,000
OAED| SASFHEHAEAZ F2t
g) 700,000& 700
OotE)| SA2IREHAHSEME & S)
1,300,000& 1,300
202 04| 300 0 300
01 =LHO4H] 300 0 300
S0j &t 300 0 300
O&2/0dH| 300,000& 300
301 Ldet2HZ 1,920 1,920
14 JIEI2 &3 1,920 1,920
=0 A 1,920 1,920
OXH2 S AR Al 24
10,0003 x2Z«8L » 122 1,920
405 RHaHESH| 20,000 20,000
02 TN 20,000 20,000
20l & 20,000 20,000
O%A 20,000,000 20,000
HY2AZH(PE A ) 2,213,540 2,049,671 163,869
olE2A| 2,121,350 1,936, 161 185,189
ol 2| 2,121,350 1,936, 161 185,189
101 QIZ4H| 2,121,350 1,936, 161 185,189
01 B 1,600,110 1,423,653 176,457
=0 A 1,600, 110 1,423,653 176,457
Ot 1,066,016
Os2(8us2x HE8) 87,500,000 =1 87,500
O62(2358) 4,288,000 x5H x12& 257,280




SN PREAHE
HE: MESAH|(RUCHD)
e ol (2ol 2@
- - IOH dEH & FOH =
SA - B OR(B) - NRAY - BaS S s RS2
or=2(2058) 3,723,000& x7H*12& 312,732
o8z (1188) 2,723,000& x8H x 122 261,408
O9=(628) 2,043,000 x6H * 12& 147,096
oY 169,957
OlRERA = 13,174
5= U2 4,418,500 x2H *4 1%+ 12E 4,348
b= 3,587,800 x5 *4 1%+ 12& 8,826
oFz+Y 978,516,000 *1/12%50%+23] 81,543
O&2+E =2 14,520
-5 0|4+ 104 08t 50,0003 x7H+12& 4,200
-104 0|4 154 0|8t
60,000 *3H+12& 2,160
-154 0l&t 204 0|2t
80,0002 x6H 122 5,760
204 0|4t 100,000 »2H 122 2,400
OEY 21,360
- <kt 40,0003 =20 x 122 9,600
SROIE (R, ML)
30,0002 «15H 12 5,400
~SUINE(EMAE)
70,0002 x6H x 122 5,040
~SUIE (ATHRHS)
110,000& *1H » 122 1,320
Os0ts8 Y 1,400,000 »2H *12& 33,600
OJl=328sY 480
-8 O|ot 20,000& x2H + 122 480
OJI=882Y Jtag 720
-Jls®, JIAH12) 30,000& x2H = 12& 720
OS82 4,560
-AtA =S 20,0002 x19% x12& 4,560
O&FAHZAH| 140,0003+27H* 128 45,360
OZESII(ASH H2)
978,516,000 x1/12+60%x23| 97,852
O I AHH|
1,066,016,000& *1/12%86%/30* 10! 25,466
OAZt2lE 12,5313 26 *35A| 2+ 12& 136,839
MNZEXH| 58,620
Ob= 250,000& x 1Y 12& 3,000
o622 185,000& *5H 12 11,100
Or= 180,000& x7H*12& 15,120
o8z, 9= 175,0003*14H 128 29,400
02 JIEt& 2 125,708 125,708
=0 A 125,708 125,708
©OPJR=r= 95,569
OAIZREE - IIHI(92 &)
2,654,670 x3H 122 95,569
(OES=4 30, 139




SN PRCAHR
HE: MESAH|(RUCHD)
o olg I (Gt &
S - EHY - BR(31) - NSAY - BaS S SR b=
OJ=sE 1,320
-t <Xt 40,0002 x1H+12& 480
~S2AINF(EMAA)
70,0003 x1H+12& 840
OZWM2R4E(AIZHIERR)
9,620 x3H*35A| 2H 123 12,122
OF M= AH| 140,0002 x3H x 12& 5,040
O&ZE=xH| 175,000 #35/40+3% * 12& 5,513
OS&XDaH(AZHEER)
117, 3703 »3H = 12& 4,226
OB A (AIZHAER )
2,654,670%*84%*86%*1/30*1/7*70/\|a;;fo 1,918
03 SR (RIHS) 22X+ 395,532 512,508 A116,976
S0/ & 395,532 512,508 116,976
o2 395,532
oJleg21se) 3,108,210& x6H * 12& 223,792
odz2+Y 3,108, 210 x50%+6 H 23| 18,650
O&Z==EoHa 90,000 x6H 123 6,480
OJ=sEg 120,000 x6H 12 8,640
OJls&Edse 20,0003 x2G 123 480
Ot elat =l 50,0003 «6% 123 3,600
OFHZAH| 140,000 »6H = 12& 10,080
O&RExH| 165,0002 x6H x 122 11,880
O=dY 90,0002 x6H 12 6,480
OZE SOt 3,108, 2102 x6% x60%*23| 22,380
O Xt 156,000 *6H * 10 9,360
OAIZERI=Y
19,5002 *1.5%35A| 2«6 * 128 73,710
J|l24dhl 92,190 113,510 A21,320
Jl=Z| 92,190 113,510 A21,320
201 dEt2AY| 38,250 50,250 A 12,000
01 AtR2teldl 38,250 50,250 212,000
20 & 38,250 50,250 A12,000
OYEt=gH| 3,690
OJ|2ARES 7 5,000 x6H +12& 360
Oll=ss HEEE ¢ 150,000& 150
Oz = 15,0002 x35+12& 540
O=AMEX 2 20,0002 8244 Xt 1,640
OZejzely 23 F2¢
250,000 *4 24 %13 1,000
O=&Hl 34,560
OJ|2YRFT =l
8,000& x27H x 10« 12& 25,920
OAIRHE SR =&l
8,000& x3 10~ 12& 2,880




=M PECHD
o HESAAL(TEEAD)
&2 J|2&H| (&9 &
SRR S(B) - NIRAR - BHAS (ggj) @%%’Lﬁ‘” HDE2
SECHCSEEIERR
8,000& 6 x 10 = 12& 5,760
202 04| 39,600 50,160 A 10,560
01 2yl 39,600 50,160 A 10,560
S0 A 39,600 50,160 A 10,560
OZUHEEMI 39,600
OJE2HR2FE 2USE W]
20,000& x27H x5 x 12& 32,400
OJ|292e=8 2USEOH|(AZFEEH)
20,000& *x3H 52U« 12& 3,600
OJ 242X ZUESEHE(2RF)
50,000 x6H «12& 3,600
203 HR=AH| 12,540 11,300 1,240
02 BRAISE2FAY| 1,440 1,400 40
S0 A 1,440 1,400 40
O100E LK 40,000 *36H 1,440
M4 BASRISL2FAY| 11,100 9,900 1,200
=0 A 11,100 9,900 1,200
©159! OloH( &= F=2b) 250,000« 122 3,000
©102! Olat 2,100
OLSHICH= A2 175,000& = 12& 2,100
©5¢21 0|at 6,000
OGELAFT M2t 100,000& = 12& 1,200
O=BEA 2 100,000& = 12& 1,200
OJ|Eo M2 100,000& = 12& 1,200
OsMsENS 100,000& = 12& 1,200
OsA3sEAS 100,000& = 12& 1,200
204 2R AH| 1,800 1,800
01 HNEZSHRLHA| 1,800 1,800
=0l A 1,800 1,800
O2& 150,000& = 12& 1,800




